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Quiz 2

public class Panda {

static String food;
int age; //any int
boolean happy;

public Panda(int age) {
this.age = age;

public class PandaList {

public Panda item;
public PandalList rest;

public PandaList(Panda p) {
this.item = p;
this.rest = null;

public static void main(String[] args) {

Panda p = new Panda(1l);
PandaList 1lst = new PandaList(p);
lst.rest = new PandaList(p);
lst.rest.rest = 1st;

p = new Panda(-10);

PandaList temp = lst;

1st = new Pandalist(p);

lst.rest = temp;

1lst.rest.rest.rest.item.food = "Bamboo";
temp.rest.rest.item.happy = true;
temp.item.food = "shoots";

1lst.rest.rest.rest = lst;
lst.rest.rest.rest.item.happy = false;
lst.rest.rest.item.happy = true;

System.out.println(temp.rest.item.age); // Print statement 1
System.out.println(temp.rest.rest.rest.item.food); // Print statement 2
System.out.println(lst.rest.item.happy); // Print statement 3
System.out.println(temp.rest.rest.item.happy); // Print statement 4
System.out.println(lst.rest.rest.item.age); // Print statement 5
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CS 61B Small Croup Tutoring
Summer 2020 Section 3: Linked Lists Worksheet 3

1 Pointer Practice CASsume WVounalla JIn~ple Mexrortion )

Draw the resulting box and pointer diagram for the IntLists after the following code is executed:

IntLists
IntList Ll = IntList.of(7,15,22,31);

IntList L2 = Ll.next.next;
L2.next.item = 13;
Ll.next.next.next = L2;
IntList L3 = new IntList (50);
L2 .next.next = L3;
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2 Sl{ip Me

Write a function that takes in an IntList L, which must contain at least one element, and returns an IntList
with every odd indexed element removed, starting at index 0. For example, if L = {1,2,3,4}, the function

should return an IntList with elements {1,3}. D OoSe rva A0V L DESTRUCTL VE

Cases
1. Destructive: input IntList, L, should be modified (&> Two Bore .
AL 5 S £1T S

public static void skipDestructive (IntList L) ~ Thext
if (L ongx+ =2=viwt ] L == wnul( ) |
[AVEYIT A ;

}
L.next = L-NY-‘-\N?‘é

skipbDestructive (__ L. gt ) ;

}

oo ervahion
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2. Nondestructive: input IntList, L, should not be modified

® Wt wnedk 2 pPotviHey
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public static IntList skipNondestructive (IntList L) { o—at oCd-
. . _ L2225 gt
IntlList pointer = 7
- - @ Wt |
IntList retPtr =M¢MM; " heedl prun ¥
/C ovherwide
IntList retHead = T\M’Ph, : los¥ ﬂl.\ﬂg'\ﬂ—t:r ,;_0 e
while poiat ' & nuil 55 Coite mesbomertlenun) {5
retPtr.next = + LS+ n b 4. - “— ;

pointer = __ POnH~ . neXt+ . mezxt
retPtr = aPh - 2t

r

}
return _ st Heor

3 Beneﬁts of Enhancements

1. List one advantage of having a sentinel node. “4~0 “*Awl( FHowodlon 9 ERRor_§

2. Suppose we implement a doubly linked list with a sentinel. In order to write the addFirst method,
which pointers will we change?

s sentinel.next Setivnel L—
sentinel.prev
% sentinel.next.prev prev hert prey o b

sentinel.next.next _7L N
({2 0\)_ ) I c
CS 61B, Summer 2020, Worksheet 3 "ﬁ! 2













